A OtsEAE N
Bu: w=s =2 AH(NSN/ES - HEUHA)
CHol: W= OIS U OMAUME CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
(0: By == 114,136,875 94,844,878 19,291,997
= 51,521,778
J| 2,472,561
= 31,381,642
Al 28,760,894
HEs JIIE25 AS (AIAEX/EE - JIIEY0HA) 113,171,511 94,159,688 19,011,823
= 51,082,975
Dl 2,472,561
= 31,276, 121
Al 28,339,854
HES IIE L A ANE 7,965,745 6,062,360 1,903,385
= 2,124,228
Dl 1,966,367
== 1,346,092
Al 2,529,058
otMGt) =8 JIIFEAAHEH 54,160 123,747 AN B69,587
= 21,220
== 6,366
Al 26,574
201 AUE2 A Y| 2,000 6,020 N4,020
01 AbR @2l 2,000 6,020 A 4,020
= 0ff &F 2,000 6,020 N4,020

ON=dHE =8 E22 MA
1

,000& x5004 x23! 1,000

OII=FIFNE =& ZeHtE M

100,000 * 1090 A +13] 1,000
202 o4l 3,520 4,080 A 560
01 =Wl 3,520 4,080 2560
= 0l &t 3,520 4,080 A 560
ONE=EXN ¥ HZIHEAY W= AMOIL
A 60,0003 »4H x3L x43| 2,880

O2=¢e A JR=A o4

60,0003 x4 H 2 x13| 480

OJt=Ede GRFA Hl 20,0002 «4E »23| 160
203 Y=l 3,000 3,000 0
03 A F=XHR=AH| 3,000 3,000 0
= 0l &t 3,000 3,000 0

OWdII=s g2 =d 3,000,000 * 14 3,000
301 LEENS 3,200 4,200 A 1,000
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2H: OFSHAED
Hal: #=st 525 A (MIASX/BS - HEL0AS)
Sl WA OIS U HAHAME (B9 @
. - . 0f &+ o & 0 & o ~
SA - B ER(SH) - HRAY - BES iz T HRE2
09 BAAH P4 3,200 4,200 A1,000
= 0 & 3,200 4,200 A1,000
ORALINW R A ST B2 DE EA
X2 10,0002 50 *13] 500
OALNHZH WS L MOIL ZA
60,0008 * 152 * 12 900
OB & A HAK S
60,0002 %302 * 12 *13] 1,800
307 @12H0 | 42,440 40,000 2,440
= 21,220
= 6,366
Al 14,854
1 ASI=TALEE 42,440 40,000 2,440
= 21,220
= 6,366
Al 14,854
= 0l 4t 42,440 40,000 2,440
2 21,220
= 6,366
Al 14,854
OBSKOILISE 29 42,440,000 1§ £ 42,440
= 21,220
= 6,366
Al 14,854
AYNE - UEANSXNAMH 29 388,800 190,450 198,350
| 194,400
= 58,320
Al 136,080
307 Q12H0 A 388,800 190,450 198,350
| 194,400
= 58,320
Al 136,080
1 ASI=TALEE 388,800 190,450 198,350
p] 194,400
< 58,320
Al 136,080
= 0l &t 388,800 190,450 198,350
| 194,400
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A OtsEAEDL
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CHol: W= OIS U OMAUME CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
& 58,320
Al 136,080
OHLIE & 24l 2d(SeHdH)
388,800, 000& * 174 A 388,800
Dl 194,400
== 58,320
Al 136,080
AL SEHEH SAHA S8 16,800 0 16,800
= 10,080
Al 6,720
301 Qietg al=a 16,800 0 16,800
== 10,080
Al 6,720
12 JIEtEAZ2 16,800 0 16,800
== 10,080
Al 6,720
= 0l & 16,800 0 16,800
== 10,080
Al 6,720
OAIIUIIE S HE SAL} EE4E
70,000& «20H x12& 16,800
& 10,080
Al 6,720
CIE23otE ot8 A H= X 405,421 363,067 42,354
101 ol 4| 281,811 269,257 12,554
04 JIZtHZ2ZXNSE > 281,811 269,257 12,554
= 0l & 281,811 269,257 12,554
OO0l TGESIHE XHH st&s==201 2
g 211,489
—-JI23 60,000 20 x20H *8IH & 192,000
—=304d3 192,000, 000& *4.5% 8,640
—H2AEE 192,000, 000& *3. 12% 5,991
—N1EEE 192,000, 000& *1.5% 2,880
—MHEE 192,000, 000& *0.8% 1,536
— &) YLEE 5,990,000& *7.37% 442
O2=0 02tU0l ESsdMY 29 70,322
—-Jl23 57,0003 *7H 20«8 & 63,840
—=0d3 63,840,000& *4.5% 2,873
—2HLEE 63,840, 000& *3. 12% 1,992

- 470 -




2H: OFSHAED
Hal: #=st 525 A (MIASX/BS - HEL0AS)
Sl =S OIS U GHAAME (2@
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
— 1828 63,840,0002 *1.5% 958
— T 63,840, 0002 0.8% 511
- PlE=Et 1,992, 000! *7.38% 148
201 Yur2 Yl 51,110 34,510 16,600
01 AtR2lY| 41,110 24,510 16,600
= 0 4 41,110 24,510 16,600
O9=el U OREIIE NV 2ols 28
S 5000002 * 13l 500
OUSSIE S&T20 DMR2Y
30,0002 *46% x4} & 5,520
OUREIIE SSH4Y 2415
0,000% 1% +43] « 10 2 2,000
OUSHINE SSHMY DHRPY
30,0002 *5% * 103l 1,500
ONZ=T 42 £7 S A
8,000%! *4% +102 +122 3,840
OCHSSIIY CHRO0{B MEOHY BT et
10,0002 %3002 131 3,000
HENRNEL S E N E R
A g 100,0002! 10 *23] 2,000
OUSEIIE It 220 S2 98 0
JtEI0l 2y 23 30,0002 +75% *37 6,750
oues Mg 29 16,000, 00021 * 14! 16,000
03 A2 10,000 10,000 0
=0 & 10,000 10,000 0
OROIIE 23 22580 =29
10,000, 00021 * 14! 10,000
01 YA 10,500 47,300 36,800
01 MEIEBEH2H2 7,500 41,800 34,300
= 0 &t 7,500 41,800 34,300
OARQZES HANY T2 29
250, 0002 *30% 7,500
09 BAAHIEAS 3,000 3,000 0
=0 & 3,000 3,000 0
OZEOIF0Y 25 1S L 39 A
10,0002 502 #43] 2,000
OUISEIIE ANEAS 81O BAK B4
10,0002 +50% *23] 1,000
307 QI2H0IH 12,000 12,000 0
04 DIZIBAAY B E 12,000 12,000 0
=0 & 12,000 12,000 0
OCSSIIE 803 SH  12,000,0008 +14] 12,000
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2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CHol: W= OIS U OMAUME CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
401 Al&HI 20| 40,000 0 40,000
01 Al&HI 40,000 0 40,000
=01l 4 40,000 0 40,000
Ot=2st M&g= 2223 40,000,000 =14 40,000
405 KHaFE SHI 10,000 0 10,000
01 XA&L2SFHSHI 10,000 0 10,000
= 0ff & 10,000 0 10,000
OtU=23 Mega 28 228 7Y
10,000, 0003 *14] 10,000
ZE0I2A NEAL(2HHFNSHESAH) 8,400 0 8,400
& 4,200
Al 4,200
301 LErEAZ 8,400 0 8,400
= 4,200
Al 4,200
01 A EHESGH S 8,400 0 8,400
= 4,200
Al 4,200
=0l 4 8,400 0 8,400
= 4,200
Al 4,200
OZ2e028X =2F=SHE N&
300,000& x28H 8,400
= 4,200
Al 4,200
ROIOHE OIRO0IE TEsolsing SHAY 18,000 0 8,000
= 9,000
Al 9,000
307 gIztol ™ 18,000 0 18,000
= 9,000
Al 9,000
11 AMSSAAEES 18,000 0 18,000
= 9,000
Al 9,000
= 0l & 18,000 0 18,000
& 9,000
Al 9,000
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2 A Of

X XH -
S =

ool B=g 9 o GO
SH-EH. (AN NRANY - B (o) ) HDE2
O0tIt= el ol G2 oldfus 29
1,200,000 * 150 £ 18,000
= 9,000
Al 9,000
AEHSE & THHME S Y2usMHHA K3 220,390 208,620 11,770
J| 154,274
= 19,834
Al 46,282
307 QIztol ™ 220,390 208,620 11,770
J| 154,274
= 19,834
Al 46,282
11 AMISAASEES 220,390 208,620 11,770
| 154,274
= 19,834
Al 46,282
= 0l &F 220,390 208,620 11,770
J| 154,274
= 19,834
Al 46,282
Og2uws Mbla K& 220,390,000 14 220,390
Il 154,274
= 19,834
Al 46,282
ZE0I8A SHAAMEA X& 26,760 22,224 4,536
J| 18,732
& 2,408
Al 5,620
307 QIztol M 26,760 22,224 4,536
J| 18,732
= 2,408
Al 5,620
11 AMSSAASEES 26,760 22,224 4,536
| 18,732
== 2,408
Al 5,620
= 0ff &F 26,760 22,224 4,536
Il 18,732
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2 A Of

X XH -
S =

S H=5s 2 AlE (e &
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
== 2,408
Al 5,620
OZ=0|2 % SHAAMEIA KA
26,760,000 =14 26,760
Dl 18,732
= 2,408
Al 5,620
ChEshiis o oge X3 30,650 30,129 521
Dl 21,455
= 2,758
Al 6,437
307 212tol A 30,650 30,129 521
J| 21,455
c 2,758
Al 6,437
11 Al SXAIEE X 30,650 30,129 521
J| 21,455
° 2,758
Al 6,437
= 0ff &F 30,650 30,129 521
Dl 21,455
= 2,758
Al 6,437
OU=23ItEAE AHEYE XNJAAS
30,650,000 14! 30,650
J| 21,455
== 2,758
Al 6,437
ol JIs&EtEXH 26,850 24,224 2,626
Dl 18,795
== 2,416
Al 5,639
307 Q12t0l A 26,850 24,224 2,626
Dl 18,795
== 2,416
Al 5,639
11 AMISIAMEEX 26,850 24,224 2,626
J| 18,795
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2AM: OtsEAE
H: #HE5 =R A (MI=Z2XN/ES - IIEL0Y)
ool #Est OIS L HEAANE (69l @
x s . 0 & o & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T HRE2
11 AMIISAANHEEE < 2,416
Al 5,639
= 0fl &F 26,850 24,224 2,626
J| 18,795
& 2,416
Al 5,639
O0lEd0 II=EEE ZdAMY
26,850,000 » 14! 26,850
J| 18,795
& 2,416
Al 5,639
saNE 22 22,163 22,162 1
I 15,514
& 1,994
Al 4,655
307 gIztold 22,163 22,162 1
Il 15,514
& 1,994
Al 4,655
11 At SXALSE E X 22,163 22,162 1
| 15,514
= 1,994
Al 4,655
= Off &F 22,163 22,162 1
J| 15,514
= 1,994
Al 4,655
Og=20 s 2¢ 22,163,000 » 14 22,163
J| 15,514
& 1,994
Al 4,655
FHAAHNE HEE2SE ™ 235 159,830 149,830 10,000
201 LBt 11,050 11,050 0
01 AtR2Zeldl 5,650 5,650 0
= 0fl &F 5,650 5,650 0
OFAE =, HJOH0H s 2AME
70,000& +703] 4,900
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SN OIS EAUD
M Me=s IS A (MIASN/ESR - HSL0E)
CHel: =S OIS 2 (AN (St &8
x s . O &t o8 & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T HRE2
= 0f & 650,887 662, 900 A 12,013
= 197,866
Al 453,021
OS2 RIS X BSH X8
13,000,000 * 14} 13,000
= 6,500
Al 6,500
OIS 2ItE THH XA
637,887,00021 14! 637,887
= 191,366
Al 446,521
OIS YSH S N (HRIIHS) 1,168,694 530,400 638,294
p] 934,955
= 116,870
Al 116,869
301 YstzaZ 1,168,694 530, 400 638,294
p] 934,955
= 116,870
Al 116,869
01 ASIRE=253 1,168,694 530,400 638,204
p] 934,955
= 116,870
Al 116,869
=0 & 1,168,694 530,400 638,294
p 934,955
= 116,870
Al 116,869
OOSYSH S XN (BRRI}E)
1,168,694,000% *14! 1,168,694
p] 934,955
= 116,870
Al 116,869
OHEYSH N (BLAURD HEXA) 37,405 19,800 17,605
p] 29,924
= 3,741
Al 3,740
301 YstEaZ 37,405 19,800 17,605
p] 29,924
= 3,741
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3,741
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37,405
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A OtsEAE N
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CHol: W= OIS U OMAUME CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
02 QUIAT2AILEZ(0IETHE) 19,030 19,800 ANTT70
J| 9,515
== 4,758
Al 4,757
= 0l & 19,030 19,800 NTT0
Dl 9,515
== 4,758
Al 4,757
OstERIIEEXANE JsEd N
19,030, 000& = 1JH 2~ 19,030
Dl 9,515
== 4,758
Al 4,757
Fer A0S XN 44,400 45,000 A 600
= 22,200
= 11,100
Al 11,100
307 212t0| A 44,400 45,000 A 600
= 22,200
= 11,100
Al 11,100
11 AMISIAMEEX 44,400 45,000 A 600
= 22,200
= 11,100
Al 11,100
= 0l & 44,400 45,000 A 600
= 22,200
== 11,100
Al 11,100
O0lE2dZE I sIsMY
44,400,000 14! 44,400
= 22,200
== 11,100
Al 11,100
MNAS X201 SZED| 2A4H XNEAY 11,250 0] 11,250
== 3,375
Al 7,875
301 ot A= 11,250 0 11,250
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2AM: OtsEAE
H: #HE5 =R A (MI=Z2XN/ES - IIEL0Y)
CHol: W= OIS U OMAUME CER-E
A EY - SA(EH) - NEANY - B (o) ) DS
307 giztold Il 57,095
& 17,129
Al 39,967
10 Al EXANEEE2ZHEX 114,191 82,908 31,283
| 57,095
= 17,129
Al 39,967
= Off & 114,191 82,908 31,283
J| 57,095
& 17,129
Al 39,967
ONE=Eda4gs 23 114,191,000& 14 114,191
J| 57,095
& 17,129
Al 39,967
NHEE=SE LA ESAE 2SN 140,689 130,032 10,657
I 102,081
= 11,582
Al 27,026
301 LerEaZF 12,000 11,000 1,000
Il 12,000
01 MIBEHEESHS3 12,000 11,000 1,000
| 12,000
= 0fl & 12,000 11,000 1,000
J| 12,000
ONEZSETNNESAAE HE=2 X MAHH
X & 12,000, 000& 14! 12,000
J| 12,000
307 giztold 128,689 119,032 9,657
J| 90,081
= 11,582
Al 27,026
10 ASISEXNAIZHER2IHEL 119,689 110,032 9,657
| 83,781
= 10,772
Al 25,136
= Off & 119,689 110,032 9,657
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A OtsEAEDL
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CHol: W= OIS U OMAUME CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
Dl 83,781
== 10,772
Al 25,136
OJIEZLIHNESAE 24
119,689, 000& =14 A 119,689
Dl 83,781
== 10,772
Al 25,136
11 Al SXAIEE X 9,000 9,000 0
J| 6,300
== 810
Al 1,890
= Ol & 9,000 9,000 0
Dl 6,300
== 810
Al 1,890
OJE =S ol A &Y=
9,000,000 x 14! 9,000
Dl 6,300
= 810
Al 1,890
IIEZH Mol A XIggE T2 A3 39,286 47,073 NT, 787
J| 27,500
== 3,536
Al 8,250
307 212t0| A 39,286 47,073 NT,787
Dl 27,500
= 3,536
Al 8,250
11 AMISIAMNGEX 39,286 47,073 NT,787
Jl 27,500
= 3,536
Al 8,250
= 0ff & 39,286 47,073 NT,787
J| 27,500
== 3,536
Al 8,250
OJE=d Ioilkt XNgzg=s 22 )
39,286,000 14! 39,286
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SN

X XH -
S =

0x

el BEE OIS o SRR
S-S (3A) - A (o) ) Rz
| 27,500
& 3,536
Al 8,250
&= HohA 2lsHl K& 9,000 0 9,000
| 6,300
& 810
Al 1,890
307  QI2t0l & 9,000 0 9,000
| 6,300
& 810
Al 1,890
11 AL SXAIEE X 9,000 0 9,000
J| 6,300
T 810
Al 1,890
= 0l & 9,000 0 9,000
| 6,300
& 810
Al 1,890
OJIE =4 Toil Xt 2=l 9,000,000 =14 9,000
| 6,300
& 810
Al 1,890
NS =S JtolAF nd¥X g = 2 13,845 37,150 A 23,305
| 9,691
& 1,246
Al 2,908
307  QI2t0l A 13,845 37,150 AN 23,305
| 9,691
= 1,246
Al 2,908
11 AMISIAEEXS 13,845 37,150 A 23,305
| 9,691
T 1,246
Al 2,908
= 0l & 13,845 37,150 AN 23,305
| 9,691
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2AM: OtsEAE
H: #HE5 =R A (MI=Z2XN/ES - IIEL0Y)
Chel: =6t s & AT (o2&
x - . 0 & o & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz BT BlRE2
= 1,246
Al 2,908
ONE=d Ittt wEXZg Z20Y
13,845,000 14 13,845
Il 9,691
= 1,246
Al 2,908
AZZIolA w3XE T2 29 12,890 16,747 A 3,857
I 9,023
= 1,933
Al 1,934
307  QIztol™ 12,890 16,747 A 3,857
J| 9,023
= 1,933
Al 1,934
11 AL SXAFSE EX 12,890 16,747 A 3,857
| 9,023
= 1,933
Al 1,934
= 0fl & 12,890 16,747 A 3,857
Il 9,023
= 1,933
Al 1,934
Od=Z4 Jtoll Xt wdEXEs 220
12,890, 000& 14! 12,890
J| 9,023
= 1,933
Al 1,934
428 AdgL 29 A2 107,513 75,610 31,903
J| 53,756
& 16,127
Al 37,630
307  QzZtol™ 107,513 75,610 31,903
I 53,756
= 16,127
Al 37,630
10 M EXANEHE2SIHIEES 107,513 75,610 31,903
| 53,756
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A OtsEAEDL
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CHol: W= OIS U OMAUME CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
10 MISIAEEHI2IHEX & 16,127
Al 37,630
= 0ff &F 107,513 75,610 31,903
Dl 53,756
o 16,127
Al 37,630
Od=Zgadas 29 107,513, 000& = 1JH & 107,513
Dl 53,756
== 16,127
Al 37,630
A=A XNEs=s Z2 1 8,938 8,954 AN 16
Dl 6,256
== 805
Al 1,877
307 212tol A 8,938 8,954 N 16
Dl 6,256
== 805
Al 1,877
11 Al SXAIEE X 8,938 8,954 N 16
J| 6,256
c 805
Al 1,877
= 0ff A 8,938 8,954 N 16
Dl 6,256
== 805
Al 1,877
Od=ZY Il XIs3=s T2
8,938,000& » 14! 8,938
J| 6,256
== 805
Al 1,877
SAZHE A 2 =d|, 2t8d A& 8,265 8,265 0
Dl 5,785
= 744
Al 1,736
307 QI2t0l A 8,265 8,265 0
Dl 5,785
= 744

- 486 -




SN

X XH -
S =

Q >
> o
Rall1
P
HT
H0
S|
I
Ho
2
0x

S H=5s AlE (e &
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
307 QIz2tol & Al 1,736
11 Al SXAIEE X 8,265 8,265 0
J| 5,785
< 744
Al 1,736
= 0l & 8,265 8,265 0
Dl 5,785
< 744
Al 1,736
O48=% ToiAt 2lsd|, 2t8Hl K&
8,265,000 x 14! 8,265
J| 5,785
= 744
Al 1,736
SOHOHNTIGHA XIJAIE L AEs 2AXA 417,788 268,770 149,018
Dl 242,358
= 87,715
Al 87,715
307 Q12t0| A 417,788 268,770 149,018
Dl 242,358
= 87,715
Al 87,715
10 AISISXAIEEHES2IHIEX 417,788 268,770 149,018
J| 242,358
== 87,715
Al 87,715
= 0l & 417,788 268,770 149,018
J| 242,358
== 87,715
Al 87,715
OH0HoH &AL 29|
204,020, 000& *1JH & 204,020
Dl 102,010
== 51,005
Al 51,005
OXOHOHIIGH A XIRAIE 29|
167,320,000 =14 167,320
Dl 117,124
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A OtsEAE N
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CHol: W= OIS U OMAUME CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
== 25,098
Al 25,098
O0ls - A9 SOHOHLIGH AR KHEH 29
ull 46,448,000 =10 A~ 46,448
Dl 23,224
== 11,612
Al 11,612
SOHOHIIGH KF =X & AHS 57,147 38,571 18,576
Dl 40,003
= 8,572
Al 8,572
307 212tol A 57,147 38,571 18,576
J| 40,003
== 8,572
Al 8,572
11 Al SXAIEE X 57,147 38,571 18,576
J| 40,003
== 8,572
Al 8,572
= 0ff &F 57,147 38,571 18,576
Dl 40,003
= 8,572
Al 8,572
OMOHOHIIOHAF 2 EX&
57,147,000 =1 2 57,147
J| 40,003
== 8,572
Al 8,572
SOHOHIIGH K XIR0& JsE2 10,930 4,220 6,710
Dl 5,465
== 2,732
Al 2,733
402  QIZ2EXIE20l ™ 10,930 4,220 6,710
Dl 5,465
== 2,732
Al 2,733
02 SIZHXE2ALEX(0IETL) 10,930 4,220 6,710
J| 5,465
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2AM: OtsEAE
H: #HE5 =R A (MI=Z2XN/ES - IIEL0Y)
Chel: =6t s & AT (o2&
x s . 0 & o & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T HRE2
02 QIZT2ALEZ(0IETHSA) < 2,732
Al 2,733
= 0fl &F 10,930 4,220 6,710
J| 5,465
& 2,732
Al 2,733
OH&OHOH TSHA XI2AIE JisE2
10,930, 000& 14! 10,930
J| 5,465
& 2,732
Al 2,733
HE8=sXA4E R 21,132 22,641 A 1,509
= 10,566
Al 10,566
301 LEtBaE 21,132 18,480 2,652
= 10,566
Al 10,566
12 JIEt2 &3 21,132 18,480 2,652
= 10,566
Al 10,566
= 0f] o 21,132 18,480 2,652
= 10,566
Al 10,566
OWEZSANE SAL EESE
21,132,000 » 14! 21,132
= 10,566
Al 10,566
(O] RS0 PRl FS DN RC: R W Foag: 7,000 7,000 0
= 3,500
Al 3,500
201 B2 7,000 7,000 0
= 3,500
Al 3,500
01 At 2teltl 7,000 7,000 0
= 3,500
Al 3,500
= Ol & 7,000 7,000 0
= 3,500
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oF)
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Ok
aJ

H

o xo
o <
<ol
—
B0
=
_ g o
E)

m M
“4nn

&0 0] 7o)
L0 T Jr
S w0 &0

S A
X ZH

_.\
0

=

19,700

A 300

A 300

A 300

20,000

20,000

B 0
(J1EH)

3,600

3,600

3,600

3,600

52,490

2,490

2,490
2,490

50,000

50,000

ol o
< RO
= R

3,500

Al

7,000
3,500
3,500

fi

Al

3,600

1,800

fir

900
900
3,600

H

Al

1,800

fir

900

H

900

Al

3,600

1,800

fi

900

H

900
3,600

Al

1,800

r

900
900
3,600

WH

Al

1,800

fi

900
900

H

Al

72,190

H

35,000
37,190

Al

2,190

2,190

2,190

2,190

70,000

35,000

H

Al

35,000

70,000

35,000

H

or
R
Y,

[l

30
0B

&l
ar
=
of
H
X0

A
Al

1

2l *

7,000,000

ord

~J
ol

307

ISXAIMBEX

At Z]

"

<J

il

A
Al

1

2l *

3,600,000

_CL{]

A X

L]

0

o

-

H

]
oll

301

ro
<0
H

<N

e
10

<

H

20
H

r
K0
o

70

-

30
7

198

=

2 x2

10,000

ol s

~
ol

307
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SN

sSHA
Hal: #=st 525 A (MIASX/BS - HEL0AS)
el M=E OIS U GERAMY (B9 @
x s . O &t o8 & & 0] Ak o -
N33 .2 (33) - MEANY - BES (Z= o) (713 o) Hns2
04 DIZFBAAS B E Al 35,000
= 0 & 70,000 50,000 20,000
= 35,000
Al 35,000
OFY o8 YR2l stas M
70,000, 00024 *14! 70,000
= 35,000
Al 35,000
=R 12,000 12,000 0
= 6,000
Al 6,000
307 Q12H0H 12,000 12,000 0
= 6,000
Al 6,000
1 ABISTALEE 12,000 12,000 0
= 6,000
Al 6,000
=0 4t 12,000 12,000 0
= 6,000
Al 6,000
004 e BDa 29
12,000,0002 * 14! 12,000
= 6,000
Al 6,000
SN S L ASIEO B 38,372 38,372 0
201 Yur2YHl 10,072 10,072 0
01 AtR2lY| 10,072 10,072 0
=0 &t 10,072 10,072 0
OCIMYA STX AT A
200,000 x5 1,000
OCi&ell A2Ls D 1,046,0008 23] 2,092
OCi&ZY A XE U
600,002 * 12+ 1CH 600
OC&TH ALEXES EHIHE ME
100,0002 73] 700
OOI&E™ NRA 22+ 3,008 *3002 23] 1,800
OREIZOAZAID 203l HE
1,000,0008! *13] 1,000
OCLALEX S2O44IY|
8,000/ +3% +102 +122 2,880
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2H: OFSHAED
Hal: #=st 525 A (MIASX/BS - HEL0AS)
ol BEE JIE U GIAHANE CERE
x s . O &t o8 & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T HRE2
202 Oft 1,440 1,440 0
01 =0l 1,440 1,440 0
=0l 4 1,440 1,440 0
OOl MTHH =2 #A % MOIL S &4
60,0002 3 +52! 900
OCI&IH HNLNS &4 60,0009 +3% «33] 540
301 LsBAD 18,860 8,860 0
09 BAAHIRAE 4,860 4,860 0
=0 4,860 4,860 0
Mo HUE BAT 2
60,0002 ¥20% 124 1,200
OFY AN AAQIAS BHK 24
60,000 %102 *12} 600
OUSNET SFX Yl
60,0002 *432] «12) 2,580
OEF2 OENGEK Ads &4 24
60,000 x8H 13| 480
12 JIEEAl 14,000 14,000 0
=0l A 14,000 14,000 0
OUMEH BSNEEHE 85 24
10,0002 126 % *43] 5,040
OREIZ GIMZAT 25 24
10,0002 *896% 8,960
307 @I2t0lH 8,000 8,000 0
02 PABMMYBE 2,000 2,000 0
=0l A 2,000 2,000 0
OOMNET &lE QIAS 10,0002 *2002 2,000
04 DIZBAAIRBE 6,000 6,000 0
=0l A 6,000 6,000 0
OOCI&EHH SHest0te A 10,0009 +600% 6,000
HEGH S s - S42 BHIHEA 7,000 5,600 1,400
= 2,800
Al 4,200
307 eI2to0lH 7,000 5,600 1,400
= 2,800
Al 4,200
1 ABI=SIALRE 7,000 5,600 1,400
= 2,800
Al 4,200
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2H: OFSHAED
Hal: #=st 525 A (MIASX/BS - HEL0AS)
Sl WA OIS U HAHAME (2@
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES Sl T BlRE2
= 0l & 7,000 5,600 1,400
= 2,800
Al 4,200
OGEEH o) 5 SN2 B XY
7,000,000 *14} 7,000
= 2,800
Al 4,200
YHBES A 79,692 36,408 43,284
= 20,000
Al 59,692
201 Ysregl 29,008 1,708 17,300
01 AtR2lY| 29,008 11,708 17,300
=0 & 29,008 1,708 17,300
Y UM YUSHSH AST R
5,0002 x247H 4 *123] 1,440
OotME R 2
600,000 x20 4 « 122 14,400
012 Y8 HHUSHSE 2428 Iz
5680002 * 13| 568
O=®A YHBSHAVNE BFa4g
10,0002 *10% *13] 1,000
OBS 22 XM= 200,000 *54; 1,000
ONFY 452 HLDS AL
500,000 284 x23] 2,000
ONFLY S58 MYDS DM K
3,00021 +2502 x23] 1,500
ONEASEI NADS ALY
500,000 224 x23] 2,000
OSEYSWI NADS DM AT
3,0002 x2502 x23] 1,500
ONEAE A 29
100,0002! *13% 23] 2,600
OUMABTAZE 222 HA
1,00021 *1,00004 1,000
202 Oft 1,560 2,100 A540
01 =Uoibl 1,560 2,100 A540
=0 & 1,560 2,100 A540
OYHBS ANBLB0 OE HFX Y2
60,0002 %32 57 X| & +12) 900
OCIMRBITAIZA X0
60,0008 %112 %12 660
206 Tl 7,524 9,000 A1,476
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SN
X ZH -
L=

el

M
Ho
o
>
o
o>
> o
2}
-
HT
i)
o
M
He
<3
0x

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
01 Mzl 7,524 9,000 A 1,476
=204 7,524 9,000 A 1,476

O Byl 2I | 18,0002 <418 O 7,524
301 LuEa3 3,600 3,600 0
12 JEea2 3,600 3,600 0
204 3,600 3,600 0
O%s Yol SHSH &4 2y
30,0009 %242 x53| 3,600
307 QI2H0IH 10,000 10,000 0
02 SIAYMAYRE 10,000 10,000 0
=0l & 10,000 10,000 0
OYHIYSF2H JIE#A 10,000,000 *13] 10,000
308 XHXISH SO 8,000 0 8,000
10 ZIIBSHHEZAXIASAA Y 8,000 0 8,000
=0l & 8,000 0 8,000
OHHFSI LLVH 400,000 ¥20% 8,000
401 A&H L2 20,000 0 20,000
= 20,000
01 A&l 20,000 0 20,000
< 20,000
=0l & 20,000 0 20,000
= 20,000
OOl &ota Polere eipiat &% (22250
e BN 20,000,0002 *14! 20,000
= 20,000
ofolEEX 2,515,415 1,513,467 1,001,948
= 1,760,791
= 401,729
Al 352,895
307 ©I2+0IH 2,515,415 1,513,467 1,001,948
= 1,760,791
3 401,729
Al 352,895
11 ASI=ZXAERE 2,515,415 1,513,467 1,001,948
= 1,760,791
< 401,729
Al 352,895
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A OtsEAE N
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CHol: W= OIS U OMAUME CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
= 0l & 2,515,415 1,513,467 1,001,948
= 1,760,791
== 401,729
Al 352,895
Oolol=E XNIAMNG(MEIAMZ2D2H)
2,352,635,000& 14! 2,352,635
= 1,646,845
== 352,895
Al 352,895
Oolol=8 XA (ZAHEIIA)
162,780,000 14! 162,780
= 113,946
== 48,834
ME2AEH XNE2H(AZ) 441,279 467,370 N 26,091
= 314,717
== 63,281
Al 63,281
307 212t0| A 441,279 467,370 AN 26,091
= 314,717
= 63,281
Al 63,281
11 AMISIAMNGEX 441,279 467,370 N26,091
= 314,717
= 63,281
Al 63,281
= 0l & 441,279 467,370 N 26,091
= 314,717
== 63,281
Al 63,281
OMEdode 120,000, 000& * 14! 120,000
= 96,000
= 12,000
Al 12,000
OMEHEH 29 X3 205,124 ,000& * 14! 205,124
= 102,562
== 51,281
Al 51,281
OXgns=d 116, 155,000& * 1A 116, 155
= 116, 155
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SH: OISHAED
A #Es ESs A (MISX/E2S - HEL0Y)
Sel: BES JIE L GMAANT (o :&e
x s . O &t o8 & & 0] Ak o -
SN EZH .- (3H) - HRAY - BE=2 (Z= o) (713 o) HwES2Z
MYUE BAX 2SH XA 21,600 21,600 0
= 10,800
Al 10,800
307 Q1201 21,600 21,600 0
= 10,800
Al 10,800
1 ASSTALRE 21,600 21,600 0
= 10,800
Al 10,800
=0 o 21,600 21,600 0
= 10,800
Al 10,800
OMYUHE SAX BSH X
2,400,0002 9% 21,600
= 10,800
Al 10,800
QI LHE 2% X2 286,000 287,000 ~1,000
=3 143,000
Al 143,000
307 Q12401 H 286,000 287,000 ~1,000
= 143,000
Al 143,000
1 AS=STALRE 286,000 287,000 A 1,000
= 143,000
Al 143,000
=0 o 286,000 287,000 ~1,000
= 143,000
Al 143,000
OGS HLHE 2% X2
276,000,000 * 14! 276,000
= 138,000
Al 138,000
OO0 & Q2L HEl OIHENS
10,000,0002 * 14! 10,000
= 5,000
Al 5,000
2E0IX04 M2ER0 29 24,024 0 24,024
= 12,012
Al 12,012
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A OtsEAE N
Bu: w=s =2 AH(NSN/ES - HEUHA)
CHol: W= OIS U OMAUME CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
307 QIz2tol & 24,024 0 24,024
== 12,012
Al 12,012
11 AMISIAMEEX 24,024 0 24,024
o= 12,012
Al 12,012
= 0l & 24,024 0 24,024
== 12,012
Al 12,012
OZE0IF:04 &2 =20/ 294
24,024,000 =14 24,024
& 12,012
Al 12,012
Yot A28 Ots 24 105,205,766 88,097,328 17,108,438
= 48,958,747
J| 506,194
= 29,930,029
Al 25,810,796
R0t ExE A 37,332,355 31,282,865 6,049,490
= 24,266,031
& 6,533, 162
Al 6,533, 162
301 ot A= 37,332,355 31,282,865 6,049,490
= 24,266,031
6,533, 162
Al 6,533, 162
01 AMISIBEEE=6 =2 37,332,355 31,282,865 6,049,490
= 24,266,031
== 6,533, 162
Al 6,533, 162
= 0l & 37,332,355 31,282,865 6,049,490
= 24,266,031
= 6,533, 162
Al 6,533, 162
OgR0t Ex2 X& 37,332,355,000& 14! 37,332,355
= 24,266,031
== 6,533, 162
Al 6,533, 162

- 497 -




2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CH9l: £H5ID ALB OIE KA CERT
SH-EH. (AN NRANY - B o) ) HDE2
Sy 252 X2 15,646,720 14,733,036 913,684
= 13,958,832
Al 1,687,888
301 LerEa3 15,646,720 14,733,036 913,684
= 13,958,832
Al 1,687,888
01 MIEHEE=SHS3 15,646,720 14,733,036 913,684
= 13,958,832
Al 1,687,888
= 0l & 15,646,720 14,733,036 913,684
& 13,958,832
Al 1,687,888
Oxctd Exg XN
13,766,880,000& 14! 13,766,880
& 13,766,880
OeIZEN e 0l 28 HueEszg X
& 1,879,840,000& *14] 1,879,840
& 191,952
Al 1,687,888
AM2HH ESMHIA MBS 341,600 250,967 90,633
2 170,800
= 85,400
Al 85,400
101 elAd4| 34,060 0 34,060
17,030
= 8,515
Al 8,515
04 JIZtHZZ2NSE=S 34,060 0 34,060
= 17,030
= 8,515
Al 8,515
= Ol &t 34,060 0 34,060
= 17,030
& 8,515
Al 8,515
OSSN JHEH AM2H 25 24| 34,060
—Ji2=s 2,233,000 x1H x12& 26,796
= 13,398
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A OtsEAE N
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS o @(ijf;ﬁ% HRE2
& 6,699
Al 6,699
— WA 180,000& *1H x12& 2,160
= 1,080
== 540
Al 540
—hlEE = 2,684,000 x1H 2,684
= 1,342
== 671
Al 671
— &&=z 2,420,000& x1H 2,420
= 1,210
== 605
Al 605
201 B2 A Y| 3,300 3,300
= 1,650
= 825
Al 825
01 Ar®2telt] 3,300 3,300
= 1,650
= 825
Al 825
= 0ff &F 3,300 3,300
= 1,650
== 825
Al 825
OFOSEXNJHEH AI2ZH EF 2HH|
3,300,000& » 14! 3,300
= 1,650
== 825
Al 825
202 o1t 400 400
= 200
= 100
Al 100
01 =LHoiH| 400 400
= 200
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2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CH9l: £H5ID ALB OIE KA CERT
SH-EH. (AN NRANY - B o) ) HDE2
01 =AYl < 100
Al 100
2 0fl & 400 0 400
= 200
= 100
Al 100
OO0 XNJAHEH AIZH 25 0dl
100,000 <43 400
= 200
= 100
Al 100
301 et AZF 15,000 0 15,000
= 7,500
= 3,750
Al 3,750
01 A EZ" 063 15,000 0 15,000
= 7,500
= 3,750
Al 3,750
= 0l & 15,000 0 15,000
= 7,500
= 3,750
Al 3,750
OZROIBEXNJAHEH AIZHH ESMHA B
== 15,000, 0003 *14] 15,000
= 7,500
& 3,750
Al 3,750
307  glztol & 288,840 250,967 37,873
= 144,420
= 72,210
Al 72,210
11 ASSAAEES 288,840 250,967 37,873
= 144,420
= 72,210
Al 72,210
= 0ff & 288,840 250,967 37,873
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2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CH9l: £H5ID ALB OIE KA CERT
SA BB (3AH) - HRAY - BA= (o) ) HDE 2
= 144,420
= 72,210
Al 72,210
OAZIXISE EsAMY 288,840,000 14 288,840
= 144,420
= 72,210
Al 72,210
SSuEY Ay A& 8,628,256 7,096,594 1,531,662
2 4,314,128
& 2,157,064
Al 2,157,064
307  gI2tol A 8,628,256 7,096,594 1,531,662
4,314,128
& 2,157,064
Al 2,157,064
11 AMISAAMBEE 8,628,256 7,096,594 1,531,662
= 4,314,128
= 2,157,064
Al 2,157,064
= 0l & 8,628,256 7,096,594 1,531,662
= 4,314,128
= 2,157,064
Al 2,157,064
O=23g -geloaold X
6,552,871,000& 14 6,552,871
= 3,276,435
& 1,638,218
Al 1,638,218
OZOotEG0e0lE XA 644,375,000 14] 644,375
= 322,187
= 161,094
Al 161,094
OHMOUHEEHE 0l XI&
658,224,000 14 658,224
= 329,112
= 164,556
Al 164,556
OAZIAEEAHE 0l E XI&
715,621,000 =14 715,621
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2AM: OtsEAE
H: #HE5 =R A (MI=Z2XN/ES - IIEL0Y)
Chel: ESHotD 2128 Oots s4 (o2&
x - . 0 & o & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz BT BlRE2
= 357,811
= 178,905
Al 178,905
OXOOtsSEHE0IE K&
57,165,000& =14 57,165
= 28,583
= 14,291
Al 14,291
228 Helold XI& 1,039,200 939,728 99,472
= 495,000
5 272,100
Al 272,100
307 giztold 1,039,200 939,728 99,472
= 495,000
= 272,100
Al 272,100
11 AL SXAFSE EX 1,039,200 939,728 99,472
= 495,000
= 272,100
Al 272,100
= 0fl & 1,039,200 939,728 99,472
= 495,000
= 272,100
Al 272,100
OZ238 oalold X& 990,000,000 14 990, 000
= 495,000
< 247,500
Al 247,500
O=38 0el0lE FHAR 212l
49,200,000& =14 49,200
= 24,600
Al 24,600
NHELEY 7,050,273 8,401,764 A 1,351,491
= 4,582,677
= 1,233,798
Al 1,233,798
301 LerEa3 7,050,273 8,401,764 A 1,351,491
= 4,582,677
= 1,233,798
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2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CH9l: £H5ID ALB OIE KA CERT
SH-EH. (AN NRANY - B o) ) HDE2
301 detEaz Al 1,233,798
01 MIBEHEE=SHS3 7,050,273 8,401,764 A 1,351,491
= 4,582,677
= 1,233,798
Al 1,233,798
= Off & 7,050,273 8,401,764 A 1,351,491
= 4,582,677
= 1,233,798
Al 1,233,798
ONgLes=4 7,050,273,000& * 14 7,050,273
= 4,582,677
& 1,233,798
Al 1,233,798
Helold 2gX& 761,856 737,690 24,166
= 109,288
= 313,244
Al 339, 324
307  glztol & 761,856 737,690 24,166
= 109,288
T 313,244
Al 339, 324
11 ASSXAIEER 761,856 737,690 24,166
= 109,288
= 313,244
Al 339,324
= 0l & 761,856 737,690 24,166
= 109,288
& 313,244
Al 339, 324
O MWl 111,412,000 *14] 111,412
= 55,706
= 27,853
Al 27,853
Oxt&2 Il 98,907,000 *14] 98,907
= 49,453
& 24,727
Al 24,727
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A OtsEAEDL
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
Os0E &M goloesloly X3
8,257,000& * 14! 8,257
= 4,129
== 2,064
Al 2,064
OAE2 020 Xte2H|
55,200,000 * 14! 55,200
== 16,560
Al 38,640
Odetgzols Helold oNEE & i
Ml 10,000,000& » 14! 10,000
= 3,000
Al 7,000
OQIZIIIENE 0l E FHAMSE o124d XA
478,080,000& * 14! 478,080
= 239,040
Al 239,040
BEFANI HRMAXA 5,217,061 3,674,126 1,542,935
= 2,608,531
== 1,304,265
Al 1,304,265
301 oty Al 5,217,061 3,674,126 1,542,935
= 2,608,531
& 1,304,265
Al 1,304,265
12 JIEIEAZ 5,217,061 3,674,126 1,542,935
= 2,608,531
= 1,304,265
Al 1,304,265
= 0ff A 5,217,061 3,674,126 1,542,935
= 2,608,531
= 1,304,265
Al 1,304,265
OuWAF Z2FZMAH  2,269,892,000& 14 2,269,892
= 1,134,946
== 567,473
Al 567,473
O=EESUAN SE222Y
63,325,000 14! 463,325
= 231,663
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2AMd: OlsEAEL
FH: #Ss IIEERS A (MISX/ES - IHBL0HAY)
CH9l: £H5ID ALB OIE KA CERT
SH-EH. (AN NRANY - B o) ) HDE2
= 115,831
Al 115,831
OBZ A X& 2,357,844,000% 14 2,357,844
= 1,178,922
= 589,461
Al 589,461
OAIZEJAZ X2l 126,000,000 *14] 126,000
= 63,000
= 31,500
Al 31,500
HOoF, OO A K& 94,000 94,000 0
= 47,000
Al 47,000
301 LerEa3g 78,000 78,000 0
& 39,000
Al 39,000
12 JIEt2 &3 78,000 78,000 0
= 39,000
Al 39,000
= 0l & 78,000 78,000 0
& 39,000
Al 39,000
OZOot, OO ¥ OEI0IE BSAL EE
=g 2,000,000 =14 72,000
= 36,000
Al 36,000
OFMEZOHE 0l XAt 2R3 R
X & 100,000 x5 123 6,000
= 3,000
Al 3,000
307 gIztold 16,000 16,000 0
& 8,000
Al 8,000
11 AMSSAAHEES 16,000 16,000 0
= 8,000
Al 8,000
= 0l & 16,000 16,000 0
& 8,000
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2H: OFSHAED
Ha: g=st 525 A (MISX/2S - IHEL0AS)
Chelr S5tD AYS Ol I4 (2@
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
Al 8,000
OSOL, FOHOF S OfRI0IE Witey]
2,000,000 %204 2 4,000
= 2,000
Al 2,000
OZONOIHSORIO0IE 2SS QA X &
12,000,00021 * 12§ £ 12,000
= 6,000
Al 6,000
CRI0IY BSUTARE(TIIAST) 368,590 364,990 3,600
= 144,295
Al 204,295
01 YHPAS 288,590 286,990 1,600
= 144,295
Al 144,295
12 JIEtE Al 288,590 286,990 1,600
= 144,295
Al 144,295
=0 &t 288,590 286,990 1,600
= 144,295
Al 144,295
OBIIUS SHOBOIE BAR 4+
281,590,0002 14! 281,590
= 140,795
Al 140,795
OFSLE ASHRO0IE BAR 4+
7,000, 0008 *14] 7,000
= 3,500
Al 3,500
307 @120l 80,000 78,000 2,000
06 &3 80,000 78,000 2,000
=0 4t 80,000 78,000 2,000
OORI0IR QHFMBHBE Jtl X
80,000, 000! * 141 80,000
OlRI0IE BN H 163,000 35,000 128,000
401 ANSHIL2THY 58,000 20,000 38,000
01 Al&HI 58,000 20,000 38,000
=0 & 58,000 20,000 38,000
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SN OFSHAE D
Hu: w=s JIS2s M (ANSN/2S - HSLHY)
ool ZYGD AUS OtS S CERE
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
O=222, 5ol S B0 AR2 Al&x
2| 20,000,000% *14] 20,000
OORI0IT AQIs0lH ISt AeHst Al
ALY 38,000, 0002 *14] 38,000
405 HAHESHI 105,000 15,000 90,000
01 MMUSEHSH 105,000 15,000 90,000
=04 105,000 15,000 90,000
O2BYOROIY =228 S
15,000, 000! *144 15,000
ONES7,864X ZEOB0E E2 7S
60,000, 000% *14] 60,000
O28 S40{20lE H7AY N
30,000,000% *14] 30,000
SOIESNAME 2 171,853 190,766 £ 18,913
101 212l 49,909 102,496 A52,587
04 JIAHIEXNSES 49,909 102,496 52,587
=004 49,909 102,496 ~52,587
OSOBENANE 2% JAHIZX o
21yl 49,909
-Jl23 1,620,600% *3% «80H 2 38,895
— NSl AT 11,6408 %1241 2+32i %123 5,029
-2 RS 128,0008 *32] *43| 1,536
- =003 43,924,000 *4.5% 1,977
—ALy 43,924,00021+3. 12% 1,371
- 1=y 43,924,000 *1.5% 659
— A 43,924,000 +0. 8% 352
— @Iy 1,371,000% *6.55% 90
201 et 86,664 88,270 A 1,606
01 A2t 43,736 51,690 A7,954
=004 43,736 51,690 A7,954
OYerg| 10,000, 0008 *144 10,000
OE=2 M 2,000,000 * 12! 2,000
OFIIHHBRIMEY 442 400,002 *122 4,800
052l |NZL 2000002 * 12 2,400
SEEIS/IE-BIEPY; 136,000 *13] 136
OF4D|, iy a2 3000002 122 3,600
OALBAIE RX22 2 AL
200,0002! 122 2,400
oHAgAY| 900, 0008 *43] 3,600
O2YAAsl 812 +Z 100,000 +7% «43] 2,800
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SN OIS EAED
Hu: w=s JIS2s M (ANSN/2S - HSLHY)
Chelr S5tD AYS Ol I4 CERE
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OZIIISNE 1S ZAE 300,008 #1538 4,500
OBIIQE w2 2145 50,0002 x35/ %303 4,500
OF%ES DS L AFDS A2
250,0002! *123] 3,000
02 ZZ2Y| 42,928 36,580 6,348
=0 & 42,928 36,580 6,348
SE:BlI-E 2,200,0002! 122 26,400
OuBt4+=23 50,0002 * 122 1,800
OZAIA23 300,0002! 122 3,600
oFsez 10,0002 122 120
OAHoIE Ba L AHY M3 H
100,0002 * 122 1,200
ORUABANLH23 50,0002 * 122 1,800
OZAIJIA EIIHAF 58,0002 * 13l 58
OBAMLRELD 150,0002 13| 150
OHZANZ? SOSEXNVME B3t
800,000 *13] 800
o8&l |12l 2,000,000 * 14! 2,000
OZHOIX L PC RXZ2l 4,000,0009! *1A! 4,000
o2wH3 1,000 *1,0000H * 13l 1,000
206 M2 35,280 0 35,280
01 T 35,280 0 35,280
= 0 4t 35,280 0 35,280
OBUZ 7Y S 35,280,000% *14] 35,280
SOIZSNAME HFLSX 2 20,000 0 20,000
=2 10,000
= 10,000
201 Qw2 20,000 0 20,000
= 10,000
= 10,000
01 At 2r2lt| 20,000 0 20,000
=2 10,000
= 10,000
=0 & 20,000 0 20,000
= 10,000
= 10,000
OSOIZENAME LT
20,000,0002 *14] 20,000
= 10,000
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A OtsEAE N
Y HES IE25 A (AMESK/BE] - IIIELAHY)
CH9l: £H5ID ALB OIE KA CERT
) _ . sy 415 < 0 & -
SA BB () - MM - BAS tiert g =t HDE2
25 o) BEES
| | = 10,000
CHAI A @124 -] XI& 437,220 0 437,220
2 218,610
= 109,305
Al 109,305
101 o144l 437,220 0 437,220
= 218,610
= 109,305
Al 109,305
04 JIZtHZZXNSE* 437,220 0 437,220
= 218,610
< 109,305
Al 109,305
= 0ff &F 437,220 0 437,220
= 218,610
& 109,305
Al 109,305
OSSN HEH Helold XA 2l
24| XI& 437,220,000 x14] 437,220
= 218,610
= 109,305
Al 109,305
el 0l& SAX 0o E kA 1,288,000 738,700 549,300
301 etg Az 1,188,000 638,700 549,300
09 SAAHIEAZ 3,000 15,000 A 12,000
= 0l A 3,000 15,000 A 12,000
oY ExudA Uzl 10,0003 *300E 13 3,000
12 JIEI2A3 1,185,000 623,700 561,300
= 0l AF 1,185,000 623,700 561,300
OB=FuUAN M8 XA 990, 000
—QolAHl XN&E Helold
50,000& *200 12& 120,000
— QolAHHl OIXI& oglol&
100, 000& #6508 12& 780,000
— Ol AH] OIXI& AE(LAF HE 2F)
50,000& *150H x12& 90,000
OB=udad ¥4 X3
50,000& x1,950H x23] 195,000
307 QIZ2tol A 100,000 100,000 0
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2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CH9l: £H5ID ALB OIE KA CERT
SH-EH. (AN NRANY - B (o) ) HDE2
11 AMSSXALEES 100,000 100,000
= 0l & 100,000 100,000 0
OEIIoIESEN Helold HEFedd XA
100,000 *1000H & =10 100,000
22 RUHYS 2 6,000 12,400 £6,400
2 3,000
= 1,500
Al 1,500
301 LerEa3g 6,000 12,400 A6,400
= 3,000
= 1,500
Al 1,500
12 JIEt2E &3 6,000 12,400 6,400
= 3,000
= 1,500
Al 1,500
= Ol &t 6,000 12,400 A6,400
= 3,000
= 1,500
Al 1,500
Of2 ZULHEY 2% AtY
6,000,000 *14] 6,000
= 3,000
& 1,500
Al 1,500
Helold etgE 2938l X3 AL 1,078,560 0 1,078,560
= 323,568
Al 754,992
307  glztol A 1,078,560 0 1,078,560
= 323,568
Al 754,992
11 AMISAANBEE 1,078,560 0 1,078,560
= 323,568
Al 754,992
= 0 &F 1,078,560 0 1,078,560
=~ 323,568
Al 754,992
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2AM: OtsEAE
Hu: #=s )52 A (MS/2E - HELNHY)
Chel: ESHotD 2128 Oots s4 (o2&
x s . 0 & o & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T HRE2
11 AMIISAANHEEE 314,000 135,540 178,460
= Off & 314,000 135,540 178,460
Oogold sJ188J 2z XN&E
314,000,000 » 14! 314,000
Fet M Ols sSHRH™ XA 41,400 89,600 A 48,200
& 20,700
Al 20,700
301 LEtBNE 41,400 89,600 A 48,200
= 20,700
Al 20,700
01 MIBHEHE=HS 41,400 89,600 A 48,200
= 20,700
Al 20,700
= Off & 41,400 89,600 A 48,200
& 20,700
Al 20,700
OF g & Otz sstHRHd KNBAY
41,400,000& * 14| 41,400
= 20,700
Al 20,700
=38 & HANWE0E HE+ 102,000 0 102,000
= 51,000
& 25,500
Al 25,500
401 AEHIZ=ROYI 60,000 0 60,000
= 30,000
= 15,000
Al 15,000
01 Al&Hl 60,000 0 60,000
= 30,000
< 15,000
Al 15,000
= 0l & 60,000 0 60,000
= 30,000
& 15,000
Al 15,000
O=3EHE0E HES
30,000,000 *20H 2~ 60,000
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2AMd: OlsEAEL
FH: #Ss IIEERS A (MISX/ES - IHBL0HAY)
9l ZoiolD 2ALE O =4 CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
= 30,000
= 15,000
Al 15,000
402 QIZERrE0l M 30,000 0 30,000
= 15,000
& 7,500
Al 7,500
02 QUAT2AIEEX(0IXTHEA) 30,000 0 30,000
= 15,000
= 7,500
Al 7,500
= 0l & 30,000 0 30,000
= 15,000
= 7,500
Al 7,500
Ogolalold JHE= 30,000,000 1 & 30,000
= 15,000
= 7,500
Al 7,500
405  RHA&HFE S 12,000 0 12,000
= 6,000
& 3,000
Al 3,000
01 &Y =SSFHSHI 12,000 0 12,000
= 6,000
= 3,000
Al 3,000
= 0l & 12,000 0 12,000
= 6,000
= 3,000
Al 3,000
O=3&0&old ZHldl 2,000,000 «6IH 2~ 12,000
= 6,000
= 3,000
Al 3,000
CEAEE SeAtd 22 (HLHS ots S) 142,000 200,000 A 58,000
| = 142,000
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A OtsEAEDL
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS o @(ijf;lﬁ% HRE2
201 B2 A 42,890 59,573 N 16,683
= 42,890
01 Ar®2telt] 22,320 34,853 N 12,533
= 22,320
= 0l & 22,320 34,853 AN 12,533
= 22,320
OEHAEIE dBtx=2H| 3,320,000& * 14! 3,320
= 3,320
OEHAEIE AY EE 10,000,000 * 13| 10,000
= 10,000
Ou=tl 200,000& x6H *33] 3,600
= 3,600
O#IHIOIM &E& ¢ 100, 000& *5Y x4 3] 2,000
= 2,000
OA2%33 &M ¢ 100,000& *6Y x 13| 600
= 600
OOlE=RIIBEAN BA 2o
100, 000& *7H x4 3] 2,800
= 2,800
03 #AI2HH| 20,570 22,000 A 1,430
= 20,570
= Ol & 20,570 22,000 A 1,430
= 20,570
OXHZY Z)d 89 2,000, 000& =24 4,000
= 4,000
OoXo T2 89 1,110, 000& *5JH 5,550
= 5,550
O3dNEgs T8 89 2,755,000& *4H 11,020
= 11,020
202  0dd| 2,100 6,437 N4, 337
= 2,100
01 2o 2,100 6,437 N4, 337
= 2,100
= 0l & 2,100 6,437 N4, 337
= 2,100
OYRE=X 2= 0| 700,000& x3H 2,100
= 2,100
301 ot A= 82,514 79, 140 3,374
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A OtsEAE N
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS (ggz::) @(ijf;ﬁ% HRE2
301 ot A= = 82,514
01 MIBEAELGHZ2 82,514 79,140 3,374
= 82,514
= 0ff &F 82,514 79,140 3,374
= 82,514
OXHZY Z20d8 89 300,000& =14 300
= 300
OXId =) 29 4,410,000 =104 44,100
= 44,100
O8ANdgs T2 18 29 3,811,400& =104 38,114
= 38,114
307 212t0l A 14,496 54,850 N40,354
= 14,496
01 =L P = H| 14,496 27,850 N 13,354
= 14,496
= 0l & 14,496 27,850 AN 13,354
= 14,496
OdNAZY T2 )& 29 1,249,600 104 12,496
= 12,496
O3NS Zz)d 89 2,000, 000& =14 2,000
= 2,000
CEAEE 29 64,553 69,374 N4 ,821
201 282 A H| 27,353 32,674 N5,321
01 At 2t2ldl 7,903 13,224 N5,321
= 0l & 7,903 13,224 N5,321
OEHAEE S2F8 E20AHI
8,000 *3H x10 x12& 2,880
Od=xJ| Xz 30,000& =20 12 720
On=xtl 200,000& x3H x23| 1,200
ORI HHANAE A 140,000& *12& 1,680
O 22| AIAE 22| 84
20,000& = 1CHx12& 240
OccTy &x 849 80,000 »12& 960
OFMNEAALAS L SHT HFA
223,000 *13] 223
02 =249t 19,450 19,450 0
= 0l & 19,450 19,450 0
OFIIS2(Motx=x HEE) 637,500& 128 7,650
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SA: OSHEAED
Hu: w2=E JIESs MH(ANSN/2S - HELHY)
ool oD AU OIS B4 CERE
< = - Oll &F o & 0 oA =
SN -3 -S(3) - MRA - BES (Z= o) (713 o) HnsZ
OFMALE RNB4 U 2B
850, 000! *144 3,850
OEHY H83ld L RS +42
45,0002 122 540
OA2 KX 212,5002! 122 2,550
oYY AAM L KX 22|
105,000 «1CH <12 1,260
OgENY RF 300,000 122 3,600
202 OfHl 1,800 0 1,800
01 =Uhoitl 1,800 0 1,800
= 0f o 1,800 0 1,800
OYUREX 2ASH Ol
60,000 ¥32 *103l 1,800
301 LetEa3 34,400 35,200 A800
01 ABIRI=203 34,400 35,200 A800
= 0f o 34,400 35,200 A800
ORO0IIE MelZHEE X2
43,0008 %102 83| <108 34,400
405  XHaHESHI 1,000 1,500 A500
01 MMLSEHSH 1,000 1,500 A500
= 0f o 1,000 1,500 A500
OYRETS XD 2 1,000,0008 *1} 1,000
SABY, S0IH CCTV &X S22l 5,472 5,472 0
201 LBt 5,472 5,472 0
02 ZZeHl 5,472 5,472 0
= 0f o 5,472 5,472 0
OZAIBH, =0IE CCTV &% ZZ2YH|
456,000% * 122 5,472
OlRlole A 61,750 63,750 A2,000
201 Ler2 | 55,000 55,000 0
01 A2t 10,000 10,000 0
= 0f ot 10,000 10,000 0
OMO75l OIRI0IE SAF 10,000,000 *18l 10,000
03 A2 45,000 45,000 0
= 0f o 45,000 45,000 0
OMO75l OIRI0IL SAF 45,000,000 *18l 45,000
301 LetEa3 6,750 8,750 A2,000
01 ABIRIE263 3,750 3,750 0
= 0f o 3,750 3,750 0
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SN OIS HAED
M W= IIE25 AV (AMHEN/2S - HEL0Y)
CISl: EWUGID ALE OIS |4 (os: e
- - o Ofl &k oK & A & 0ff A OH =
SA - B ER(SH) - HRAY - BES iz T HRE2
OOIS=XAA of2lolg 912
30,0008 %125 3,750
09 SAAHI2AZ 3,000 5,000 A 2,000
= 0f &t 3,000 5,000 ~2,000
OMO73 Of2I0lg A 3,000,000 %13 3,000
BUS HsHL =X 10,000 5,000 5,000
307 QI2O|H 10,000 5,000 5,000
04 QIZLHALAIR 2 X 10,000 5,000 5,000
= 0f &t 10,000 5,000 5,000
OBUS MSHL =M 10,000,0008 *14] 10,000
XISOtSHE 298 X 2,995,440 2,854,000 141,440
= 1,497,720
= 599,088
Al 898,632
307 QI20|H 2,995,440 2,854,000 141,440
1,497,720
[ 599,088
Al 898,632
10 AMSIZRALHY2AY 2 2,995,440 2,854,000 141,440
= 1,497,720
= 599,088
Al 898,632
=0 & 2,995,440 2,854,000 141,440
= 1,497,720
= 599,088
Al 898,632
OXHOISHE 298 X
2,995,440,0002! *14] 2,995,440
= 1,497,720
= 599,088
Al 898,632
L4 NAOISHE X 114,164 109,760 4,404
= 57,082
= 22,833
Al 34,249
307 QI20IH 114, 164 109,760 4,404
= 57,082
[ 22,833
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A OtsEAE N
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
307 QIz2tol & Al 34,249
10 AISISXAIEEHES2IHIEX 114,164 109,760 4,404
= 57,082
° 22,833
Al 34,249
= 0l & 114,164 109,760 4,404
= 57,082
= 22,833
Al 34,249
OR+XNS0otsHEH XN& 114,164,000 14! 114,164
= 57,082
c 22,833
Al 34,249
Ex=8Y X3 43,848 43,848 0
= 21,924
= 8,770
Al 13,154
307 QIz2tol & 43,848 43,848 0
= 21,924
== 8,770
Al 13,154
10 AISISXAIEEHES2IHIEX 43,848 43,848 0
= 21,924
== 8,770
Al 13,154
= Ol & 43,848 43,848 0
= 21,924
== 8,770
Al 13,154
OEx=s8d" & 43,848,000 14! 43,848
= 21,924
& 8,770
Al 13,154
EeY9 A 18,240 18,240 0
= 9,120
== 3,648
Al 5,472
307 QIz2tol & 18,240 18,240 0
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A OtsEAE N
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
307 QIz2tol & = 9,120
== 3,648
Al 5,472
10 AISISXAIESEHES2IHIEX 18,240 18,240 0
= 9,120
= 3,648
Al 5,472
= 0l & 18,240 18,240 0
= 9,120
& 3,648
Al 5,472
OER2E XN&E 18,240,000 » 1Al 18,240
= 9,120
== 3,648
Al 5,472
Ols =S XA IHA K& 100,000 127,652 N 27,652
= 50,000
c 20,000
Al 30,000
101 ol 4| 100,000 127,652 N 27,652
50,000
== 20,000
Al 30,000
04 JIZtHZ2ZXNSE > 100,000 127,652 N 27,652
= 50,000
== 20,000
Al 30,000
= 0l & 100,000 127,652 N 27,652
= 50,000
== 20,000
Al 30,000
O0tS=EX A ItA XA
100,000,000 =14 100,000
= 50,000
c 20,000
Al 30,000
XNSE0otsdH 29 XXX 1,727,104 1,527,030 200,074
== 375,225
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2AM: OtsEAE
H: #HE5 =R A (MI=Z2XN/ES - IIEL0Y)
Chel: ESHotD 2128 Oots s4 (o2&
x - . 0 & o H = ol -
M- Za g2 (aH) HRAY - BaS e BT BlRE2
Al 1,351,879
301 LeEt2N= 170,374 90,720 79,654
< 45,360
Al 125,014
09 dAAHEAS 2,754 0 2,754
= 0fl & 2,754 0 2,754
OSAMAL dxLs /IS
8,000& 110 #24 1,760
OSAMA d&2de /3s g At
994,000& * 14 994
12 JIEt2E &3 167,620 90,720 76,900
< 45,360
Al 122,260
= 0fl & 167,620 90,720 76,900
= 45,360
Al 122,260
OXNGotsdH AN SE=Y XA
90,720,000 » 14! 90,720
= 45,360
Al 45,360
OXA0otsHE SML MM
66,000,000 =14 66,000
OXYotsHE EMX 82 X2
50,000 109 23| 10,900
307  QIztol™ 1,556,730 1,436,310 120,420
= 329,865
Al 1,226,865
11 AL SXAFSE EX 1,556,730 1,436,310 120,420
= 329,865
Al 1,226,865
= Ol & 1,556,730 1,436,310 120,420
= 329,865
Al 1,226,865
OXgGotsHEyH SIEZI Xz XA
25,0003 #4700 2«20« 123 28,200
OXG0tsHE =4H  1,411,200,0003 14! 1,411,200
& 282,240
Al 1,128,960
OXYG0tsHEH 01280t EZ 22 AIAE
Zeldl X 6,930,000 » 14 6,930
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SN OIS EAUD
M we=s JIEEs A (MIASN/ES - HSL0E)
Cel: EYGtD AYE OlS S|4 (St &8
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 3,465
Al 3,465
OXSOtSHE SAEL0 X2
110,400, 0002 * 14! 110,400
= 44,160
Al 66,240
BADR BRY AY 151,550 182,400 ~30,850
= 75,775
Al 75,775
307 I2H0IM 151,550 182,400 A 30,850
= 75,775
Al 75,775
02 BIHFMASRE 151,550 182,400 30,850
= 75,775
Al 75,775
=0 & 151,550 182,400 £30,850
= 75,775
Al 75,775
OBACIl BRY A 151,550,0008 *1 4] 151,550
= 75,775
Al 75,775
Y SIEOIS X 405,840 271,320 134,520
= 79,960
Al 325,880
301 YstzaZ 405,840 271,320 134,520
3 79,960
Al 325,880
01 ASIRE=LHZ 405,840 271,320 134,520
< 79,960
Al 325,830
=0 4 405,840 271,320 134,520
= 79,960
Al 325,880
Oz Fsx 257,400,000%! *1 44 257,400
= 25,740
Al 231,660
ONBASHU FIZ2  27,840,0009 *14! 27,840
= 13,920
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2H: OFSHAED
Ha: g=st 525 A (MISX/2S - IHEL0AS)
Chelr S5tD AYS Ol I4 (2@
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
Al 13,920
OJHISOE S RARNSZA A
9,000, 0008 *14] 9,000
= 4,500
Al 4,500
ONFASMT ZE M4
11,600,00021 * 14! 11,600
= 5,800
Al 5,800
OJIHASOIS NS (LIS HYIRI)
100,000, 0008 *14] 100,000
= 30,000
Al 70,000
IHISOLE HHLHE K 8,450 9,880 A1,430
2 5,915
= 1,267
Al 1,268
307 Q120 A 8,450 9,880 A1,430
2 5,915
= 1,267
Al 1,268
06 2&3 8,450 9,880 A1,430
2 5,915
= 1,267
Al 1,268
=0 & 8,450 9,880 A1,430
2 5,915
= 1,267
Al 1,268
ONESISOIE MHZEE  8,450,0002 *14) 8,450
2 5,915
= 1,267
Al 1,268
oY WIS M2AX2 K 3,025 2,307 718
2 2,117
= 273
Al 635
01 LB 3,005 2,307 718
2 2,117
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2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CH9l: £H5ID ALB OIE KA CERT
SH-EH. (AN NRANY - B (o) ) HDE2
301 detEaz = 273
Al 635
01 A EEESHS 3,025 2,307 718
= 2,117
= 273
Al 635
= 0l &F 3,025 2,307 718
= 2,117
= 273
Al 635
oge, II¥AEsS Aelxlzg X
3,025,000 *14] 3,025
= 2,117
= 273
Al 635
NHEASKNRHH 29 X2 13,105 11,764 1,341
308 XXSHMSOIH 13,105 11,764 1,341
07 RXSH2L2ES 13,105 11,764 1,341
= 0l & 13,105 11,764 1,341
ONEEXNJAEH 29 UXSHM2 2
=) 13,105, 0003 *14] 13,105
ZA0ts8lE T Al 2tED] 864,760 846,297 18,463
J| 355,100
= 309, 320
Al 200,340
307 QIztol M 864,760 836,297 28,463
J| 355,100
& 309, 320
Al 200,340
11 AMSSAASEES 864,760 836,297 28,463
| 355,100
== 309,320
Al 200,340
= 0l &F 864,760 836,297 28,463
J| 355,100
= 309,320
Al 200, 340
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A OtsEAEDL
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
O8)Es E.a85Y ts=24 XA
09,320,000& =14 309,320
= 309,320
OZAots 24 XEH 154,760,000& * 14 154,760
Dl 154,760
odsts ots24 XA 400,680,000& * 14! 400,680
Dl 200,340
Al 200,340
A2 OIs=EXAIE 29 3,125,045 2,698,864 426, 181
== 503,623
Al 2,621,422
307 QIz2tol & 3,125,045 2,698,864 426, 181
== 503,623
Al 2,621,422
10 AISISXAIEEHES2IHIEX 2,933,234 2,544,124 389,110
= 439,985
Al 2,493,249
= 0l & 2,933,234 2,544 124 389, 110
== 439,985
Al 2,493,249
OO0lsSAlE 294 2,933,234,000& 14! 2,933,234
== 439,985
Al 2,493,249
11 AMISIAMGEX 191,811 154,740 37,071
& 63,638
Al 128,173
= 0l & 191,811 154,740 37,071
== 63,638
Al 128,173
OAEO0ls tie st EHl=2
9,000,000 14! 9,000
o 2,700
Al 6,300
O&A0ls NEHEZ 45,000, 000& * 14! 45,000
= 13,500
Al 31,500
OA&EOls Mete= 45,240,000 14! 45,240
== 13,572
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fA: OlsEAE W
HH: HEE IEE A (MI=EXN/ES - IELHA)
& SHotn A2E ots |4 (=&
. . - 0] &b o B 0 ~
SN BB SR(BH) - MEAY - BLS e BT HDE 2
Al 31,668
ONMESMT EEH 56,400,000 =14 56,400
= 28,200
Al 28,200
OAl&E0ts =0 &t 1,600,000& =14 1,600
= 480
Al 1,120
OAN&0ots MNEXYE 2208
34,571,000 14! 34,571
= 5,186
Al 29,385
2ES0ts 188 2gX& 82,335 71,430 10,905
Il 32,934
S 24,701
Al 24,700
307  22tol™ 82,335 71,430 10,905
J| 32,934
= 24,701
Al 24,700
10 ALSISTALEE2IHES 82,335 71,430 10,905
J| 32,934
< 24,701
Al 24,700
= 0fl & 82,335 71,430 10,905
Il 32,934
S 24,701
Al 24,700
Oe2s0ts 088 22XN&
82,335,000 * 10 2~ 82,335
Il 32,934
= 24,701
Al 24,700
RES0ts 088 24 13,500 12,120 1,380
= 4,698
Al 8,802
307 QIzZtol A 13,500 12,120 1,380
= 4,698
Al 8,802
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A OtsEAE N
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
11 MISIAMEEX 13,500 12,120 1,380
== 4,698
Al 8,802
= 0l & 13,500 12,120 1,380
== 4,698
Al 8,802
ONEEN=s MEEE 2,580,000& x 14! 2,580
== 774
Al 1,806
ONEE0s MEEF2Hl 1,680,000 x14! 1,680
== 504
Al 1,176
OIEE SN S8 3,240,000 x 14! 3,240
= 1,620
Al 1,620
OI1E8sE0ts =&yl 400,000 =14 400
= 120
Al 280
O18s0ts u=7ghl 600,000 =14 600
== 180
Al 420
O1Es0ts NEEEHZ 5,000,000& » 14! 5,000
& 1,500
Al 3,500
OlsEsdEI & 89 31,600 19,659 11,941
308 XXESHMSOIHA 31,600 19,659 11,941
07 XXSHN2AREELZ 31,600 19,659 11,941
= 0l & 31,600 19,659 11,941
O0lsEsdEOI& AE A o124H XA
31,600,000 =14 31,600
OlsE2s 8= 23 40,400 29,260 11,140
201 B2 A Y| 15,300 4,160 11,140
01 Ar®2telt] 15,300 4,160 11,140
= 0ff & 15,300 4,160 11,140
O0ts=XNARARAG =&
100,000& *10H *13] 1,000
O0ts=SA&d 29|38 ¢
100, 000& *7H x4 3] 2,800
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SN
X ZH -
L=

el

OlsEAE N
H=5 =R A (MIA=EX/ES - HELAHY)
EYotn A2 ot |4

o)
{0
]
{0

M- =3 S92 (3) - HEAY - a2 (ggz::) @(ijf;ﬁ% HRE2
OXNYOISHE SAAL 9225 I
500,000& 23| 1,000
OXY0tsHE BERUS 500,000& 13| 500
OX90lsHE HEHE XUE dXs X
500,000 x20CH 10,000
202  0dd| 900 900 0
01 Z2LWA b 900 900 0
= 0l & 900 900 0
O0lsg R =& =2UW0HHl 60,0003 *3H x5! 900
301 ot A= 22,200 22,200 0
01 AMISIEEE=6 =2 15,000 15,000 0
= 0l & 15,000 15,000 0
ONEREMNU HEE2E 2 XA
120,000& * 125 *13| 15,000
09 SAIAHEAZ 7,200 7,200 0
=0 4 7.200 7,200 0
O0tsS=XANE SALA A& X AS
60,000 * 15H x2 x 13| 1,800
OO0I=EEXAIE Otls A& X AS
60,000 *45H 2 13| 5,400
307 212t0l A 2,000 2,000 0
01 =L P2 H| 2,000 2,000 0
= 0ff & 2,000 2,000 0
OA&EOlE & JIE/AEOIES HIIUAOS
X2 200,000& *10H 2,000
A0ts A=Y X 168,800 179,324 AN 10,524
Dl 118, 160
o 15,516
Al 35,124
301 ot A= 168,800 179,324 N 10,524
Dl 118,160
== 15,516
Al 35,124
01 AIIEEE=6 =2 168,800 179,324 AN 10,524
J| 118, 160
== 15,516
Al 35,124
= 0l & 168,800 179,324 AN 10,524
Dl 118, 160
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SN OIS HAED
HE: #=s JE25 AE (A g - HEUY)
9l B AR OIS =4 (2@
x s . O &t o8 & & 0] Ak o -
SN F3H .2 (3 H) y.EBES (Z= o) (713 o) Hns2
= 15,516
Al 35,124
OYYOIE YF4Y
142,200, 00021 *14} 142,200
| 99,540
= 12,798
Al 29,862
OFWOIS YYVSBE
21,200,000 *14! 21,200
| 14,840
= 1,908
Al 4,452
oygyg 2x3 5,400, 00021 *14} 5,400
| 3,780
= 810
Al 810
YUY YSFHGD X 6,000 5,000 1,000
= 3,000
Al 3,000
301 LB 6,000 5,000 1,000
= 3,000
Al 3,000
01 ABIBIHAH2 6,000 5,000 1,000
= 3,000
Al 3,000
=0 4 6,000 5,000 1,000
= 3,000
Al 3,000
OYYEs2 N 1,000,000 *6& 6,000
= 3,000
Al 3,000
OISLLNAHIT X 167,812 160,431 7,381
2 117,468
= 15,103
Al 35,241
01 YHPAS 167,812 160,431 7,381
2 117,468
= 15,103
Al 35,241




2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CH9l: £H5ID ALB OIE KA CERT
SH-EH. (AN NRANY - B o) ) HDE2
01 A2EZH 03 167,812 160,431 7,381
= 117,468
= 15,103
Al 35,241
= 0l & 167,812 160,431 7,381
= 117,468
& 15,103
Al 35,241
OOt ZEHE X2 167,812,000 *14] 167,812
= 117,468
= 15,103
Al 35,241
IS EEAHNAED MY 35,000 35,000 0
& 14,000
Al 21,000
307  glztol A 35,000 35,000 0
= 14,000
Al 21,000
11 AMISAANSES 35,000 35,000 0
= 14,000
Al 21,000
= 0ff & 35,000 35,000 0
= 14,000
Al 21,000
O&II=8 SEAHAEZ AHH
35,000,000 17 &~ 35,000
= 14,000
Al 21,000
PN 14,428, 105 9,561,833 4,866,272
2 10,099,907
= 1,298,459
Al 3,029,739
201  et2g| 5,360 12,966 AT,606
3,752
= 482
Al 1,126
01 At 2eltl 5,360 12,966 AT,606
= 3,752
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2AMd: OlsEAEL
Bu: w=s =2 AH(NSN/ES - HEUHA)
CH9l: £H5ID ALB OIE KA CERT
SH-EH. (AN NRANY - B (o) ) HDE2
01 At 2teltl < 482
Al 1,126
= 0ff &F 5,360 12,966 AT,606
= 3,752
= 482
Al 1,126
OXI XHHM At = & | 5,360,000 =14 5,360
= 3,752
= 482
Al 1,126
301 LerEa3 14,422,745 9,457,889 4,964,856
= 10,096, 155
= 1,297,977
Al 3,028,613
01 AMIEFELHI3 14,422,745 9,457,889 4,964,856
= 10,096, 155
= 1,297,977
Al 3,028,613
= 0l &F 14,422,745 9,457,889 4,964,856
= 10,096, 155
= 1,297,977
Al 3,028,613
O0ts=4 20 14,422,745,000& 14! 14,422,745
= 10,096, 155
= 1,297,977
Al 3,028,613
2538g0s NHExE 159,954 0 159,954
= 114,809
= 13,543
Al 31,602
301 etEazg 159,954 0 159,954
= 114,809
& 13,543
Al 31,602
01 A EEESGHS 159,954 0 159,954
= 114,809
= 13,543
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A OtsEAEDL
M. =26 JIER5 A (MIEXN/BES - IHE5LHY)
CH9l: £H5ID ALB OIE KA CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
01 AISIEEE=6 =2 Al 31,602
= 0l & 159,954 0 159,954
= 114,809
== 13,543
Al 31,602
OE5Z201E NE+g N
159,954, 000& * 14! 159,954
= 114,809
= 13,543
Al 31,602
AHEXN s Ol NEASE 16,600 0 16,600
= 1,620
== 1,494
Al 3,486
307 212tol A 16,600 0 16,600
= 11,620
== 1,494
Al 3,486
11 AMISIAMGEX 16,600 0 16,600
= 11,620
= 1,494
Al 3,486
= 0ff & 16,600 0 16,600
= 11,620
== 1,494
Al 3,486
OdAEXNs Otls NEXNSE 16,600
—dEH S 300,000& *11H 3,300
= 2,310
= 297
Al 693
— Ardl 2t 2l gl 35,000& *10H 383/ 13,300
= 9,310
& 1,197
Al 2,793
OFsS&ISEZA =24 32,652 29,502 3,150
201 282 A Y| 21,890 17,690 4,200
01 Ar&2te2ldl 16,890 17,690 A 800
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2AMd: OlsEAEL
M HE2IZH(HAI=D)(JIEH/IIE
Erol: ple 2oyl CER-E
SH-EH. (AN NRANY - B o) ) HDE2
HHSAHU (HHEIIS ) (IIEHDIE 965, 364 685, 190 280, 174
= 438,803
= 105,521
Al 421,040
o158 2| 891,862 621,288 270,574
= 438,803
= 105,521
Al 347,538
olA2HYI (OSSR WA TtA X&) 646,416 463,670 182,746
= 263,803
= 105,521
Al 277,092
101 elAd4| 646,416 463,670 182,746
= 263,803
& 105,521
Al 277,092
03 RIHAZ2NHE S 646,416 463,670 182,746
= 263,803
= 105,521
Al 277,092
= 0l &F 646,416 463,670 182,746
= 263,803
= 105,521
Al 277,092
Oold2IHl (OtS=S XA It X&)
527,606,000 14! 527,606
= 263,803
= 105,521
Al 158,282
O0ts=XuA " =< 118,810,000 *14] 118,810
QIA2HHI(EHAEE) 175,000 100,000 75,000
= 175,000
101 oIl 175,000 100,000 75,000
= 175,000
03 RIHAZZRE=S 175,000 100,000 75,000
= 175,000
= 0l &F 175,000 100,000 75,000
= 175,000
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2AM: OtsEAE
M HE2IZH(HAI=D)(JIEH/IIE
Chelr ol 2| (o2&
x s . 0 & o rSRER Page -
SA B S(BH) - MEMY - BES iz T BlRE2
OESHAHE 80 o082 175,000
—JlEs 2,450,000& x5H 123 147,000
= 147,000
— 5= B 1,000, 000& »12& 12,000
= 12,000
—EHEY= 2,000,000& x5H x 13| 10,000
= 10,000
—2UHEE ol 20,0002 x5 x 123 x5 6,000
= 6,000
ol 2| 70,446 57,618 12,828
101 elAd4| 70,446 57,618 12,828
01 2= 70,446 57,618 12,828
= Ofl &F 70,446 57,618 12,828
OAIZtel 2R4Y
10,2993 19 x30A| 2t 128 70,446
Jl=34l 73,502 63,902 9,600
Jl23l 73,502 63,902 9,600
201 et 18,902 18,902 0
01 ARl 18,902 18,902 0
= Off & 18,902 18,902 0
O=As8X 7 22,0003 15 A %128 3,960
O=AJ Ed & SHUH 635,000& *23| 1,270
OAMEZHISXHI (EAI] EW 7¢)
190,000& » 123 2,280
OngH EH 2¢ 175,000& 4 E »33| 2,100
OZdZee EH 72 209,000 *45 *23] 1,672
OBAEH #2¢ 84,000& *1023] 840
OMNEES 7Y 300,000& =122 3,600
OMEY 2a4ES #¢ 265,000 128 3,180
202 Ol 48,000 40,800 7,200
01 2LHA I 48,000 40,800 7,200
= 0fl &F 48,000 40,800 7,200
OJlzgesd 2UHEH 0
20,0003 *20E x 10« 128 48,000
203 YR F&H 6,600 4,200 2,400
04 ENSILRFAH 6,600 4,200 2,400
= Off & 6,600 4,200 2,400
ORNM2Z 42ZFH| 550,000& = 12& 6,600
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